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g i K £ Tk 14 > b—%)L | HDCP vk KAk
& B Pk Et 41 39 80 20.0 60.0 500
EB BX FA 39 40 79 17.0 62.0 400
3fi FE =PHER 43 40 83 20.0 63.0 300
441 ' OE= 43 41 84 19.0 65.0 200
5431 = BF 46 49 95 30.0 65.0 100
613z A& A& 39 38 77 11.0 66.0
741 Bk B— 42 39 81 15.0 66.0 90
813 Hl 2% 48 41 89 23.0 66.0
9fiz KE ZE& 41 35 76 9.0 67.0
104z e B 41 39 80 13.0 67.0 75
1141 KE & 37 40 77 10.0 67.0
12431 =Hl A 39 41 80 13.0 67.0
1341 TE A& 41 42 83 16.0 67.0
1441 N\ #FxX 41 42 83 16.0 67.0
154 Rl B 41 45 86 19.0 67.0
164 Al Et 47 46 93 26.0 67.0
174 mE ZE 44 50 94 27.0 67.0
181 Fall 281 40 38 78 10.0 68.0
191 AH BF 40 38 78 10.0 68.0
20£L EH {FiE 37 38 75 7.0 68.0 75
21431 AR B 37 38 75 7.0 68.0
224 BR K& 38 40 78 10.0 68.0
2341 KiE #E 37 41 78 10.0 68.0
2441 EH & 43 44 87 19.0 68.0
2541 FIER  5h 36 36 72 3.0 69.0
2641 TR FH 41 39 80 11.0 69.0
27431 M BRAER 37 39 76 7.0 69.0
281 4$H EBEX 42 41 83 14.0 69.0
2941 Iz B=E 39 42 81 12.0 69.0
3011z e i 36 43 79 10.0 69.0 75
314 x5 ®E 42 45 87 18.0 69.0
321 ik & 46 45 91 22.0 69.0
33fL (OF: RS 43 45 88 19.0 69.0
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3441 T 48 52 100 31.0 69.0
354 T & 42 35 77 7.0 70.0
3611 BAR FH 41 39 80 10.0 70.0
374 KA FRiE 40 39 79 9.0 70.0
3811 dll BEE 43 40 83 13.0 70.0
394 Ik BRI 43 40 83 13.0 70.0
4011 MR BEX 46 42 88 18.0 70.0 75
4141 #E —8 47 43 90 20.0 70.0
4241 BH 37 44 81 11.0 70.0
4341 B EH 38 34 72 1.0 71.0
4441 BX B— 39 37 76 5.0 71.0
454 = EE 42 39 81 10.0 71.0
464 & OEX 41 40 81 10.0 71.0
474 EiE RH 41 41 82 11.0 71.0
4841 BR OETF 42 42 84 13.0 71.0
4911 RE —x 42 42 84 13.0 71.0
504iz KA At 42 43 85 14.0 71.0 75
5141 £k E(E 41 44 85 14.0 71.0
52f1 e BA 45 46 91 20.0 71.0
53(iz FH H= 40 39 79 7.0 72.0
54431 £k BAX 47 39 86 14.0 72.0
5541 BA EfE 39 39 78 6.0 72.0
5611 FEIE B 40 41 81 9.0 72.0
5741 FIER  FEIE 40 42 82 10.0 72.0
581 BR EH 46 44 90 18.0 72.0
5941 XH F=E 45 45 90 18.0 72.0
60%L A XA 44 46 90 18.0 72.0 75
614 all & 43 41 84 11.0 73.0
624:L 25 =¥ 44 42 86 13.0 73.0
6341 REE ZA 51 44 95 22.0 73.0
64141 mWE A 43 52 95 22.0 73.0
6541 XA EE 47 41 88 14.0 74.0
664L AR #E 40 44 84 10.0 74.0
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674 Rin F 51 44 95 21.0 74.0
6811z FR - 40 45 85 11.0 74.0
6941 RE #2Z 54 47 101 27.0 74.0
7043z =5 # 48 48 96 22.0 74.0 75
71431 HE 2 50 51 101 27.0 74.0
72431 FEH BAX 42 41 83 8.0 75.0
7343 = 45 41 86 11.0 75.0
741 A —Aal 44 42 86 11.0 75.0
75431 = EBD 49 43 92 17.0 75.0
764 By —=E 42 44 86 11.0 75.0
7741 [iiE 5P S 43 45 88 13.0 75.0
784 Bl RE 46 45 91 16.0 75.0
7941 BEiE HER 45 46 91 16.0 75.0
801 KW #E 53 50 103 28.0 75.0 75
8141 Fll EE 50 52 102 27.0 75.0
8241 ®ik FH 41 40 81 5.0 76.0
83 £ B 48 41 89 13.0 76.0
844 R®R &R 46 43 89 12.0 77.0
854 =ZH HF 43 44 87 10.0 77.0
861iz e S 41 45 86 9.0 77.0
8741 EE wnY 48 47 95 18.0 77.0
881 FIER  EEHK 55 57 112 35.0 77.0
89%L RE EE 48 43 91 13.0 78.0
901z BE M 45 44 89 11.0 78.0 75
9143 FE —7 41 46 87 9.0 78.0
92{i1 Bl EF 53 53 106 28.0 78.0
93 a5 K 46 47 93 14.0 79.0
94431 HE O ® 43 50 93 14.0 79.0
9541z £k Bz 45 52 97 18.0 79.0
9611 BIR REE 47 52 99 20.0 79.0
974i il THE 49 52 101 22.0 79.0
9841 B EA 46 44 90 10.0 80.0
99 Rl FEA 48 45 93 13.0 80.0
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100z B - 43 47 90 10.0 80.0 75
1014z KHE Bh 56 51 107 27.0 80.0

10241 WHE E# 46 48 94 13.0 81.0

10313 NI EZ 51 49 100 19.0 81.0

10441 il Fe 54 45 99 17.0 82.0

10543z e RA 47 49 96 13.0 83.0

1064 ZE & 55 53 108 25.0 83.0

10741 K&t = 54 54 108 25.0 83.0

10841 85 sy 47 49 96 12.0 84.0

1094z EH —R 41 54 95 11.0 84.0

1104z Al FEF 52 56 108 24.0 84.0 75
1114 =# At 52 48 100 15.0 85.0

11241 Hig F— 51 51 102 17.0 85.0

1134 FIER {2 —ER 63 50 113 27.0 86.0

11441 NI FE— 54 52 106 20.0 86.0

115431 ¥ EiHF 64 67 131 40.0 91.0

BBE R FE 55 58 113 15.0 98.0 120
11741 FiE & 61 59 120 22.0 98.0
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